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1 100kN/mM#%#B x5 1.00| 000 ~ 146 122.23 [3m%EHEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 (11.82 ~ 17.07 122.23 [3m%EHEZ 5 -~ - — —
zhs 1.00]| 146 ~ 9.25 100.00 | Zh L5t | 000 ~ 9.25| 2.67 13.49 zh s 1.00| 500 ~ 11.82 100.00 | ZhList | 5.00 ~ 17.07 | 2.67 13.49
2 100kN/mM#%#B x5 1.00| 0.00 ~ 0.62 109.28 [3m%EEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [11.66 ~ 13.56 109.28 [3m%EEZ 5 -~ - — —
zhs 1.00 ]| 062 ~ 841 100.00 | Zh st | 000 ~ 841 | 244 12.33 zh s 1.00| 500 ~ 11.66 100.00 | ZhList | 500 ~ 1356 | 2.44 12.33
3 100kN/mM#%#B x5 1.00| 0.00 ~ 0.79 111.79 [3mZEEZ 5 -~ — — —| 100kN/m%#8%%| 1.00 [11.39 ~ 13.80 111.79 [3mZEEZ 5 -~ - — —
zhs 1.00| 0.79 ~ 857 100.00 | Zh st | 0.00 ~ 857 | 241 12.16 zhs 1.00| 500 ~ 11.39 100.00 | ZhList | 500 ~ 13.80 | 2.41 12.16
4 100kN/mM#%#B x5 - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mZE#ZD -~ — - -
zh s 1.00| 0.00 ~ 7.02 89.00 | Zh LISt | 000 ~ 7.02( 1.91 9.64 zhs 1.00| 500 ~ 9.20 89.00 | Znlist | 5.00 ~ 9.20| 1.91 9.64
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